ni= Import["d:\\Rescue\\Merken-nbs-mnbs\\Differentialgleichungen\\RLC_Diff_Ein.jpg"]
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ne2:- ClearAll[il, f@, Rg, Cc, L1, ue, erg];

3= @ = 5%73; Rg = 1000; Cc = 100%"-9;
Ll=1/ ((2%*Pixf0@)"2xCc);

ue[t_] :=Sin[2 % Pi» fO +t];
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wel- erg = DSolve[{il''[t] +1/Rg/Cc+il'[t] +1/L1/Ccxil[t] == ue[t] /Rg/Ll/Cc, il[@] == @, il'[@] == @}, il[t], t] // Simplify
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out[e]= {{il[t] - -
2000 -1 + 4 2

e*”%tn(cOs{seee —1+4ﬂ2t] (72 _144n2 45000t (2n+ —1+47T2)COS{5090 (—27T+\/—1+47T2)t]+e5%0t(—27T+\/—1+47T2)

COS[SOG@ (2n+ x/71+4n2) t] 7e5%“51n[5090 (72n+ '\/—1+4712) t] 7e5%“51n[5090 (2n+ «/71+4n2) t]) N

Sin{seee No1+an2t (72+e599“cOs{5090 (72n+ 71+4n2) t] +e5%“cOs{seee (2n+ \/—1+4ﬂ2) t] N

ZGSQQOtHSin{SOGO (72n+ x/71+4n2) t] L e%t (1, 4,2 Sin{seee (72n+ x/71+4n2) t] -
ZGSQQOtHSin{SOGO (2n+ 71+4n2) t] L et [ 1, 4,2 Sin{seee (2n+ \/—1+4ﬂ2) t]))}}

n7= i1[t_] = i1[t] /. erg[1];
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ne:= Plot[Ll % 1il'[t], {t, @, 5/ f@}, AxesOrigin » {0, @}, GridLines - Automatic,

GridLinesStyle - Directive [Orange, Dashed], PlotLabel -» " ", AxeslLabel - {}, PlotStyle » {Thin, Blue}, PlotRange - Full]
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no:= Plot[il[t], {t, @, 5/ f0O}, AxesOrigin -» {0, O}, GridLines - Automatic, GridLinesStyle -» Directive [Orange, Dashed],

PlotLabel » " ", AxesLabel - {}, PlotStyle -» {Thin, Blue}, PlotRange - Full]
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no= Plot[Ccx L1 il''[t], {t, @, 5/ f@}, AxesOrigin » {@, @}, GridLines - Automatic,

GridLinesStyle - Directive [Orange, Dashed], PlotLabel -» " ", AxeslLabel - {}, PlotStyle » {Thin, Blue}, PlotRange - Full]
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ni1= Plot[il1[t] +CcxL1xil''[t], {t, @, 5/ fO}, AxesOrigin -» {0, 0}, GridLines - Automatic,

GridLinesStyle - Directive [Orange, Dashed], PlotLabel - " ", AxeslLabel - {}, PlotStyle » {Thin, Blue}, PlotRange - Full]

0.0008
0.0006
0.0004
Out[11]= " 0.0002

N L N N L S L . 1 t
0 0) 02 0.9004 00006 0.0008 0.0010
-0.0002

-0.0004



6 | RLC_Diff Ein.nb

ni2;= Plot[Rg+ (i1[t] +CcxL1xil"''[t]), {t, @, 5/ f0}, AxesOrigin » {0, @}, GridLines -» Automatic,

GridLinesStyle - Directive [Orange, Dashed], PlotLabel -» " ", AxeslLabel - {}, PlotStyle » {Thin, Blue}, PlotRange - Full]
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